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I —5m 48em = 3122 m 13. Double 75. 15D
&, 15 564 divicible by @ = 18 Cut 70cm of
WisiDte by 82 no r-_:_;!:_:.__._, *l -' |., Fope inte 5 squol pieces
3. 3 concert tickets cger €15 UCr e S the length of each piece?
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| 8. 14 minutes tater than (556 3 N |
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| 2L 16. 5 of 45 = 35 |
9. Write the largest decimal fraction 1 -~
passible with two decimal places ¢ Ssoka s B2 minues

using the digits 7. 4, 2 and 1. :H'I‘_‘I_l 18. What is 075 of ?5?$_-25'& 01‘ 15
10. A parallelogram has 2 pairs 19. How many vertices nas

of _PREM..LEL lines. : o pentogancl pyramid? 6

11. The date o fortnight befare the 28th 20. One side of an octagon measures

of April is J""m_API"LL_ . dem. Its perimeter is Bdena
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Problem s :
> Milues driak:€l- 35
21. Millie ond Will each buy o drink. T

Will gets 35c change from €2 and Millle gets €3-65 €3-C0
change from €5. How much did the drinks cost altogether? € 2

22. Susan cycled 5-6km every day for a week.
How far did she cycle that week? 39 2km

il E? e .
23. After o baskethall match, 10 players and a trai rEirunk (-5 Litres of water each..
There were 55 litres left. How many litres of water were there at the stort?

24, At the funfair, in erder to be allowed on the rollercoaster, you have to be aver 1:5m
tall David is 1&lem tall, Bob is Tm 48cm tall and Mark is 1:35m tall.

Who ean ride on the rollercoaster?
'5. | am thinking of a number. | divide it by 2, add 4 and multiply by 5.

| get an answer of 45. What number was | thinking of at the beginning? 1)
=2+ x5 =

/25



Week 23 Test

L2ima2im -5.65m
L. How RGN fetres in 2 ;11‘2 100"“

3. Cirdeahe add one ol
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&. How many weeks in a-yeqr? 51 .-";-
5. What is (5 of 500 25
6. 1,006, 1,004, 1002, |,00D, 998
I Efjuhcurs = 2 hours

minutes
8. If it rakes me 20 minutes ta walk

a kilometre, how long would
it take me to walk 10km?

.3_ NouUrs _2_0 minutes

| 9.67:8="8 r 3
10. o
- 348

242 .

11. Share €480 among & people:

15 litres cost
Express 12 as.0 ﬁuc"ﬁ.m an= __f:;:.
i its lowest terms, 4 ool |
5— b
& children get 7 cords with
& remaining, How mam| cards? GRS
= =

15. ; of a number is 8. ° L
What is 11 that numbar? 31_

!
Orne side of a 5
pentagon js Sem. E-tr: i
lts perimeter is 25t 1

13> 'n'f%ij. True or folsed —EULE
103

Wite the number two thousaend

three hundred and fourteen, 2&

12. ?Eif}n-.l af Dfange juice tosts €} 41
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16.
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19. Order from smallest to largest:
T E |
51, T, 1
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20. What type of angle 5

s shown? ['!I\ght A

24, What s 5 of a  of 967 |2 |
25. What is the difference betwee

23. Four people shored a prize

Each person gets

e et o =

Problems
21. At the funfair, there was o queue of 63 people for the
rollercoaster ride. The eight rollercoaster carriages hold

six children per carriage.
How many children got on this ride? &8 |
How many were left behind for the next ride? |5

99 A radio costs €54 and a portable TV costs 3 times as much. | V = élez,
- What is the cost of o radio and a TN tngether?ﬂ_[ A 1
of €8.300. The first got €2,765,
the second got €3,348 and the third €1,456.
How much did the fourth person get?{ <3
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